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N.B. :— (i) Solve question No. 1111 on OMR sheet during the first half an hour.

(ii) All questions carry equal marks.

(iii) Use of simple calculator is allowed.

(iv) Question Nos. 1111 and 2222 are compulosry.

(i) OMR

(ii)

(iii)

(iv)

(Multiple Choice Questions)(Multiple Choice Questions)(Multiple Choice Questions)(Multiple Choice Questions) 10

1. (1) .................. items are not included in cost accounts.

(a) Interest on capital

(b) Interest on debentures

(c) Cash discount

(d) All of the above

(a)

(b)

(c)

(d)
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(2) If profit as per cost account is taken as base, which of the following

items is added ?

(a) Under absorption of overhead in Cost A/c

(b) Under charges of depreciation in Cost A/c

(c) Under valued opening stock in Cost accounts.

(d) Under valued closing stock in Cost A/c

(a)

(b)

(c)

(d)

(3) Work in-progress includes amount of ......................

(a) Work certified

(b) Work uncertified

(c) Both (a) and (b)

(d) None of the above

(a)

(b)

(c)

(d)
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(4) When work on contract is completed more than 50% then amount

transferred to profit and loss account is ......................

(a) Estimated profit

(b) Estimated 
1 Cash received

Profit
3 Work certified

� �

(c) Estimated 
2 Cash received

Profit
3 Work certified

� �

(d) Estimated 
1 Cash received

Profit
4 Work certified

� �

50%

(a)

(b)

(c)

(d)

(5) Generally there are .................... types of contracts.

(a) Two (b) Three

(c) Four (d) Five

(a) (b)

(c) (d)

(6) Abnormal gain is .......................... to the Process A/c.

(a) Debited

(b) Credited

(c) Both (a) and (b)

(d) None of the above
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(a)

(b)

(c)

(d)

(7) In production each stage is called ........................

(a) Process

(b) Contract

(c) Both ‘a’ and ‘b’

(d) None of the above

(a)

(b)

(c)

(d)

(8) .................. is uncontrollable loss.

(a) Normal Loss

(b) Abnormal Loss

(c) Both ‘a’ and ‘b’

(d) None of the above

(a)

(b)

(c)

(d)

(9) Standing charges in operating costing are ....................

(a) Fixed

(b) Variable

(c) Both

(d) None of the above
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(a)

(b)

(c)

(d)

(10) Service costing is called as ........................

(a) Job costing

(b) Operating costing

(c) Batch costing

(d) Process costing

(a)

(b)

(c)

(d)

(Theory)(Theory)(Theory)(Theory)

2. From the following information prepare a statement of reconciliation : 10

Particulars Financial CostParticulars Financial CostParticulars Financial CostParticulars Financial Cost

Record RecordRecord RecordRecord RecordRecord Record

(`) (`)

(1) Opening stock : Raw material 6,000 5,000

Finished stock 5,000 4,800

(2) Closing stock

Raw material 4,000 4,300

Finished stock 6,000 8,000

(3) Factory expenses 18,000 21,000

(4) Indirect labour 3,000 3,000

(5) Administrative Exp. 6,000 4,000

(6) Interest received on investment 5,000 —

(7) Goodwill written off 1,000 —

(8) Profit 36,000 34,500

P.T.O.



WT (    6    ) CV—264—2018

(`) (`)

(1)

6,000 5,000

5,000 4,800

(2)

4,000 4,300

6,000 8,000

(3) 18,000 21,000

(4) 3,000 3,000

(5) 6,000 4,000

(6) 5,000 —

(7) 1,000 —

(8) 36,000 34,500

3. Vaishnavi owns a fleet of taxis and the following information in available

from the records maintained by him.

Number of Taxis 10

Cost of Taxi ` 20,000

Salary of Manager ` 600 p.m.

Salary of Accountant  ` 500 p.m.

Salary of Cleaner ` 200 p.m.

Salary of Mechanic ` 400 p.m.

Garage Rent ` 600 p.m.

Insurance Premium 5% (per annum)

Annual Tax ` 600 per taxi
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Driver’s Salary ` 200 p.m. per taxi

Annual Repairs ` 1,000 per taxi

Total life of a taxi is about 2,00,000 km. A taxi runs in all 3,000 km in a

month of which 30% it runs empty. Petrol consumption is one litre for

10 km at ` 1.80 per litre oil and sundries are ` 5.00 per 100 kms.

Calculate the cost of running a taxi per km.

10

` 20,000

` 600 

` 500 

` 200 

` 400 

` 600 

5%

` 600

` 200  

` 1,000

30% 10 

1.80 100 5.00

Or

Calculate the cost per km of a vehicle from the following data :

Cost of vehicle ` 22,500

Road licence fee ` 750

Insurance charges per year ` 150

Garage rent per year ` 900
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Driver’s wages per month ` 300

Cost of petrol per litre ` 1.20

Kilometres run per litre petrol ` 8 km

Proportionate charge for tyre and

  maintenance per km. ` 0.30

Estimated annual km. 6000 km

Estimated life km 1,50,000 km

22,500 

 750 

150 

900 

300 

1.20 

8 

 0.30 

6000 

1,50,000 

4. On 31st December 2017 when the annual accounts of the ABC Contractors

Ltd. were prepared, the position of a bridge contract which commenced on

1st January 2017 was as follows :

`  s`  s`  s`  s

Materials purchased 5,95,000

Wages 6,87,000

Sundries 41,000

Plant dispatched to site 1,00,000

Wages accrued 17,000

Materials on hand 24,000
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The value of work certified was ` 14,40,000 of which ` 10,80,000 has been

received. Work finished but uncertified was valued at ` 40,000. The contract

price was ` 24,00,000.

You are required to give in for any profit which may reasonably be

brought into account after charging 10% depreciation on plant. 10

`  s`  s`  s`  s

5,95,000

6,87,000

41,000

1,00,000

17,000

24,000

14,40,000 10,80,000 

40,000

24,00,000 

10% 

Or

A product passes through proceses A and B. The normal wastage of each process

is as follows :

Process A = 10%, Process B = 10%

Particulars Process A Process BParticulars Process A Process BParticulars Process A Process BParticulars Process A Process B

Material 2,000 200

Rate of material per ton (Rs.) 150 150

Loss in weight 5% 5%

Scrap value of wastage per ton (Rs.) 100 100

Wages (Rs.) 50,000 30,000
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Manufacturing exp. 10,000 20,500

Actual output in (tones) 1,600 1,550

From the above information prepare process accounts showing cost per ton

at each process.

 = 10%,  = 10%

2,000 200

` 150 150

5% 5%

` 100 100

` 50,000 30,000

` 10,000 20,500

1,600 1,550
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